CrHamMpPIoN

Power & force

MJ'II'II-OCTpMpOBaHHbI[;i KaTanor 3anacHbIX YacTew

Mopenb: PP126

Ne ApPTUKYN HanmeHoBaHue K-Bo Ne ApPTUKYN HanmeHoBaHue K-s0
1 03010110007 BuHT M5x12 1 34 03040010008 LWanba 4 2
2 70030030695 KpblwWwKa uyunmHapa 1 35 02070010048 LWaiba nsonmpytowan 2
3 03020020055 BuHT 4x12 1 36 02050030124 MarHeTo 1
4 03010010062 Bont M5x20 4 37 03020020054 Bont 4x20 2
5 70070130032 Unnnnap 1 38 02050050213 MNpoBog4, BbIK/IOYEHUA 3aXKUTaHNA 1
6 L7T CBeya 3axuraHua 1 39 02080020012 3arnyuwka 1
7 02070010032 MpoKknaaka umnmuapa 1 40 02070010162 Mpoknagka raywurena 1
8 02020020003 Konbuo nopwHesoe 34 mm 1 41 02050010015 Inywurtens 1
9 02010020005 MopueHb 1 42 03040020020 LWanba 5 2
10 | 02020150002 Larb6a nanbua 2 43 03050010015 Lanba 5 2
11 | 02020010004 Manew nopwHs 1 44 03010010051 Bont M5x55 2
12 02020030017 KonbLo ctonopHoe nanbua 2 45 02070010019 Mpoknagka nog Tena1o0M30nAaTOp 1
13 03090020018 MogwunnHuK nansbya 1 46 70030020016 Tennounsonatop 1
14 | 02020120090 Konensan 1 47 03020020012 Bbont M5x20 6
15 | 03090010028 MopwunHuKk Konexnsana 6001 2 48 02070010071 Mpoknagka noa kapbtopaTtop 1
16 | 03100010009 CanbHWK KoneHsana 12x22x7 2 49 02050020101 Kap6topaTtop 1




CrHamMpPIoN

Power & force NnntocTpnpoBaHHbIM KaTanor 3anacHbIX YacTew Mogenb: PP126
17 | 03060010002 LtnoT KapTepa 3x10 4 50 70080120007 Onopa ¢punbTpa KOMNAEKT 1
18 | 70070050038 KapTep cTtopoHa cTapTepa 1 51 03020010012 BuHT M5x16 2
19 02050100015 MnaTta cobayekK ctapTepa 1 52 02020160564 3awmTa b6aka 1
20 | 02050070009 Craptep B c6ope 1 53 03020020053 BuHT M5x12 1
21 | 03020020029 BuHT M4x16 5 54 03020020044 Bont M5x55 2
22 | 03070010001 LiInoHka maxosuka 3x3,5x10 1 55 02090010011 PunbTp BO3AYLWHbIN 1
23 02070010119 Mpoknagka Kaptepa 1 56 70030040123 KpbiwKa Bo3gywHoro ¢unbtpa 1
24 | 70070050039 KapTtep ctopoHa maxoBuKa 1 57 02110030079 BonT KpenneHua KpblWKK dpunbTpa 1
25 03010010058 bont M5x25 4 58 02110020026 Mpo6ka TonansHoro 6aka 1
26 | 02050030018 MaxoBuK 1 5 | LLnaHr TONAMBHbIN 1
27 | 03030020003 lalika M8x1 1 60 [ - LLnaHr nparimepa 1
28 | 03040050052 LLlanba 6x15x1,2 2 61 02050120002 PunbTP TONAMNBHBIN 1
29 02050160002 CuenneHune 1 62 70050030089 Bak TonAMBHbIN 1
30 | 03040050042 LWaiba 6onTa cuenneHuns 2 63 03040050022 Wanba 5x15x1 1
31 02020130001 bonT Kpennenua cuenneHua 1 64 16264109K/ MopLlweHb KOMNNEKT 1

70080120195

32 80010020078 KpblwWwKa cuennexma 1 65 02060050026 MopwHeBan rpynna KOMNJAEKT 1
33 070030030164 3awmTa KapTepa 1




CrHamMpPIoN

Power & force

MJ'II'II-OCTpMpOBaHHbI[;i KaTanor 3anacHbIX YacTew

Mopenb: PP126

Ne ApTUKYN HanmeHoBaHue K-Bo Ne ApTUKYN HanmeHoBaHue K-80
1 61270020107 | bapabaH cuenneHMAa KOMNAEKT 1 20 03090010014 NopwunnHmk 6002-2RS 1
2 02020050036 | BapabaH cuennexus 1 21 03120020001 Konbuo ctonopHoe 1
3 03120020004 | Konbuo-dpukcaTtop 1 22 02050080037 | Ban rmbkuit KOPOTKMI 1
4 03090010012 MopgwunnHuk 6202-2RS 1 23 02020090119 Btynka wavuesas 1
5 03120010005 | Konbuo ctonopHoe 1 24 02020110117 Mpy*KnHa 1
6 80010060017 | Kopnyc cuenneHus 1 25 03090010044 NopwunnHmk 68027 12
7 02080020106 | Bubpounsonatop wraHrm 1 26 02010010178 CoeanHuUTENb MPUBOAHDLIX BaNOB 2
8 03120020010 Konbuo cronopHoe 1 27 02080020109 BKknagblw wWTaHrn 2
9 80010060016 | MydTa WTaHrm 1 28 02010010147 | Ban NpuMBOAHOM HUNKHUIA 1
10 | 03020020025 | Bont M5x12 1 29 02010010198 | LTaHra Hu3 1
11 03010010059 | Bont M6X20 4 30 61270010151 LLiTaHra KOMNNEKT BepXHAA 1
12 | 03010010021 | bont M5x20 1 31 70030180404 | Kopnyc noplmnHuKa 1
13 | 03050010014 | Waiba5 1 32 02080020105 | Brtynka Bana 4
14 | 61270010214 | LUraHra KOMNAEKT HUXKHAA 1 33 02020160148 Ban npusogHot BEpXHUIA 1
15 80010060020 CoeanHUTENDb WITAHMN 1 34 04100000929 3aknenka 3,2x9 2
16 80010060021 KpbilWwKa coeagnHnTenA WTaHrn 1 35 04100000938 3aknenka 5x11 1
17 | 03040020015 | LWaiiba 6 4 36 02010010146 | LUtaHra Bepx 1
18 | 03050010012 | WWaiba 6 4 37 70070110038 | Brtyska wanuesas 1
19 | 03010010018 | Bont M6x25 4 38 02050080037 | Ban rubkuin KOPOTKMUIA 1




CrHamMpPIoN

Power & force

MJ'II'II-OCTpMpOBaHHbI[;i KaTanor 3anacHbIX YacTew

Mopenb: PP126

No ApTuKyn HavmeHoBaHue K-Bo Ne ApTuKyn HanmeHoBaHue K-80
1 03010010057 | Kosnbuo ctonopHoe 28 1 18 03010030009 Bont M6x10 1
2 03120010002 KonbLuo ctonopHoe 12 2 19 70030030460 KpbILWwKa WnHbI 1
3 03090010020 | NMoawwunHuk 6001-2RS 3 20 02030030014 BTy/IKa KPbILWKK WKHbI 2
4 02020090120 | Ban-wecTepHs pegyKkTopa 1 21 03030050002 MaliKa KpenieHus KPbILWKK WWHbI 1
5 80010040040 | Kopnyc peaykTopa 1 22 02080030033 Mpoknagka 1
6 80010060022 | KpblwkKa peaykropa 1 23 02080030031 YnnoTHeHue WnaHra macaoHacoca 1
7 03010010057 Bont M5x25 5 24 03010060050 bonT HaTAXKeHuA Lenun 1
8 03010010061 Bont M5x20 4 25 03030070063 Maney, HaTAXKEHNA Lenn 1
9 03090010028 | NMoawwunHuk 6001 1 26 03010010034 bont M6x40 2
10 | 02020090110 | LWecTtepHsa pegyKtopa 1 27 70030060132 Mpobka macnaHoro 6aka 1
11 02020090109 | Ban peaykTopa 1 28 02070020057 Konbuo ynnoTHUTEIBHOE NPO6KM 1
12 80010040039 | Nnarta Kopnyca peayKTopa 1 29 70050030103 Bbak macnsaHbIn 1
13 | 02050130005 | MacnoHacoc 1 30 03020020052 Bont M5x20 2
14 03010060055 bont M5x16 2 31 02080040010 KnanaH canyHa 1
15 02020090108 | YepBsaKk macnoHacoca 1 32 01040010011 LLnaHr macnsHbin 1
16 | 02050110021 | Waiiba Begyuiei 3Be3404KM 2 33 61270030085 PegyKTOp KOMNAEKT 1
17 02050110020 | 3Be3pgouka Beaylas 1 34




CrHamMpPIoN

Power & force

MJ'II'II-OCTpMpOBaHHbI[;i KaTanor 3anacHbIX YacTew

Mopenb: PP126

No ApTuKyn HavmeHoBaHue K-Bo Ne ApTuKyn HanmeHoBaHue K-80
1 70030070333 | PykoaTKa nesas NoO/0BUHA 1 16 61350020009 O6onoyka Tpoca rasa 1
2 02020110109 | Mpy»*uMHa KypKa rasa 1 17 02050050246 MpoBoAa BbIKAOYEHMA 3aXKUTAHUA 1
3 70030070333 KypokK rasa 1 18 02050040152 Tpoc rasa 1
4 02020110108 MpyXunHa npegoxpaHuTena 1 19 03030010004 Falika M6 2
5 70030070432 | MpepoxpaHuTenb KypKa rasa 1 20 03020020025 bont M5x12 1
6 70030070334 | PykoATKa npaBas NoJioBUHa 1 21 02020040054 Ckoba KpenneHuna pemHsa 1
7 03010040295 | BbikntouyaTenb 3axuraHua 1 22 02060050015 CKob6a KomnaeKT 1
8 03010040038 | BuHT 3,5x16 1 23 03010020025 Bont M6x45 1
9 03030060007 | laiika M5 10 24 70030180406 MydTa WTaHTM BbIABUKHON HU3 1
10 03010010057 bont M5x25 5 25 70030180405 MydTa WTaHIM BbIABUNKHOWN BEpX 1
11 | 03010010030 | Bont M5x40 2 26 70030180407 Malika bapaluek mydTbl 1
12 | 03050010014 | LWaiba5 8 27 03030060002 Faiika M6 1
13 | 03040020019 | LWaiba5 2 28 03010010065 Bont M5x27 5
14 | 03010010061 | Bont M5x20 4 29 61270120009 My¢rta coeanHuTeNbHAA WTaHTU 1
KOMNNEKT
15 61270040091 PYyKoATKa ynpaBneHUA KOMNAEKT 1 30




